


Project : Modifying 1 pre-made indicator(s) and making new 2 indicators as I described

I have a request of modifying functions in 1 pre-made indicator and making 2 new indicators.
[image: C:\Users\thehe\OneDrive\바탕 화면\230424\Modifyng 2 pre-made indicator(s)_2304241920\Image(s) used_Modifying 2 pre-made indicator(s)_2304241920\Image of OIH_PTL_v1.0_RAW_2304241937.png]
                           Image of OIH_PTL_v1.0_RAW_2304241937

1. Update code, please.


2. Fill out blanks with “0.00000” (5 decimals), please.


3. Change buffers order, please
Current       New
v1          v2
v2          v1
v3          v4
v4          v3
v5          Same
v6          Same


4. Current v5 and v6 ISM values
Current indicator shows v5 / v6 value only 1 time when dot happened on current candle, but I hope new indicator to show v5 / v6 value continuously till opposite dot happened on current candle.
And v5 Upper Dot is for PaleVioletRed dot above candle and v6 is for LimeGreen colored dot below candle.
Finally, v5 and v6 will have ISM value in data window.


5. Remove un-necessary options in parameter, please.


6. I need “MaxBars” function (500 as default setting).
  MaxBars     500



Finally new indicator will have buffers in data window and parameter options as followings below.
In data window
v1 Fast Line          1.12345
v2 Slow Line         1.12345
v3 2nd Fast Line      1.12345
v4 2nd Slow Line     1.12345
v5 Upper Dot        1.12345 / 0.0000
v6 Down Dot        0.00000 / 1.12345

In parameter
Variable            Value
Fast Length          3
Fast Pip Distance     0.0
Slow Length         7
Slow Pip Distance    0.0
MaxBars             500



File name of a new indicator will be “OIH_PTL_v1.0”.



Below is for 2nd request.
All buffers of indicator used are from “OIH_PTL_v1.0_RAW”, not new indicator “OIH_PTL_v1.0”.
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As you can see, there is a signal that conditions are met as followings below.
Now, we are at 04:00.
Below values are on the 1st previous candle in H1 time frame
1. v2 > v1 on the 1st previous candle in H1 time frame
&&
2. v2 == Price_Low[H1] == 1.09838 on the 1st previous candle in H1 time frame
Then, it will show DeepSkyBlue bar sized as 1.0 and Width 3.0 at sub_window on current candle and “v1 Up Trend [H1] == 1.0” in data window at this time.
And I hope this value in lower time frame likely as M5 or M15
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As you can see, there is a signal that conditions are met as followings below.
Now, we are at 10:00
Below values are on the 1st previous candle in H1 time frame
1. v2 < v1 on the 1st previous candle in H1 time frame
&&
2. v2 == Price_High[H1] == 1.09859 on the 1st previous candle in H1 time frame
Then, it will show DeepPink bar sized as 1.0 and Width 3.0 at sub_window on current candle and “v3 Down Trend [H1] == 1.0” in data window at this time.
And I hope this value in lower time frame likely as M5 or M15


If there is no signal that the conditions are met then it will show DimGray colored bar sized as 1.0 and Width 3.0 at sub_window and “v2 No Trend [H1] == 1.0” in data window at this time.


Finally new indicator will have buffers in data window and parameter options as followings below.
In data window
v1 Up Trend [H1]          1.0 / 0.0
v2 No Trend [H1]          0.0 / 1.0
v3 Down Trend [H1]        0.0 / 1.0


In parameter
Variable                 Value
Calculation Time Frame   1 Hour
MaxBars                 500



File name of a new indicator will be “OIH_PTL_Rebound_DM_H1_v1.0”.







Below is for 3rd request.
All buffers of indicator used are from “OIH_PTL_v1.0_RAW”, not new indicator “OIH_PTL_v1.0”.
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Now, we are at 12:00
Below values are on the 1st previous candle in H4 time frame
1. v2 > v1 on the 1st previous candle in H4 time frame
&&
2. v2 == Price_Low[H4] == 1.09654 on the 1st previous candle in H4 time frame
Then, it will show DeepSkyBlue bar sized as 1.0 and Width 3.0 at sub_window on current candle and “v1 Up Trend [H4] == 1.0” in data window at this time.
And I hope this value in lower time frame likely as M5 or M15.
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Now, we are at 20:00
Below values are on the 1st previous candle in H4 time frame
1. v2 < v1 on the 1st previous candle in H4 time frame
&&
2. v2 == Price_High[H4] == 1.09789 on the 1st previous candle in H4 time frame
Then, it will show DeepPink bar sized as 1.0 and Width 3.0 at sub_window on current candle and “v3 Down Trend [H4] == 1.0” in data window at this time.
And I hope this value in lower time frame likely as M5 or M15.


If there is no signal that the conditions are met then it will show DimGray colored bar sized as 1.0 and Width 3.0 at sub_window and “v2 No Trend [H4] == 1.0” in data window at this time.



Finally new indicator will have buffers in data window and parameter options as followings below.
In data window
v1 Up Trend [H4]          1.0 / 0.0
v2 No Trend [H4]          0.0 / 1.0
v3 Down Trend [H4]        0.0 / 1.0


In parameter
Variable                 Value
Calculation Time Frame   4 Hours
MaxBars                 500



File name of a new indicator will be “OIH_PTL_Rebound_DM_H4_v1.0”.





Requirement(s)
∙ It should work properly as I described.
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